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B.Com. (Part - 1I)
Term End Examination, 2019
Group - A
Paper - 11
Cost Accounting
Time : Three Hours] [Maximum Marks : 75
AT Wt T F I AN Wt T F A
T g
Note : Answer all questions. All questions carry equal

marks.

313 / Unit-1

1. @0 9@ & I T Hed Hl GHHARC
TS F 99 T2
Explain the objects and benefits of Cost
Accounts. What are its demerits ?
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w amh @ P FaAel & w R
§ feamen afx HIFO fafy @1 WA
% .
ifteat frfer
Ry || w | fafu TR
arier, 2018 ariier, 2018
1 3w | 450 [2.20 10 400
5 % | 500 |2.10[ 15 200
12 %9 | 350 |2.40[ 18 300
20 %4 | 300 [2.25) 25 350
Show the following information in Stores

Ledger regarding certain materials if ‘HIFO’

system is followed :

Receipts Issue
Date Date
April, 2018 Units | Rate [April, 2018 Units
1 Balance | 450 |2.20 10 400
5 Purchase | 500 | 2.10 15 200
12 Purchase | 350 | 2.40 18 300
20 Purchase | 300 |2.25 25 350
109_JDB_%*_(14) (Continued)
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gahTs / Unit-11

2. WUmHE WegH WH  USfadl -
@ ¥ s @ el dW W GHaw H
T |

What are the main incentive wage payment
methods ? Explain any three of them in
brief.
37¢1aT / OR
T FH 9R wEia faur &1 g6y &
W ®1 4, B, C 3reA fawm ® ok D @
Fer faum €1 =g faew 3@ WoR ® ;.
® &)
T 5,000 |oifam 4,500
[T 4,000 |fiteror 7,500
B 2,250 |sitar v Fadem
REaN] 600 |1 Tfa= 750
3= St (=iw)| 2,500
R faurll & wey § feafafan g
TN ® :
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fauwm
A B C D
e (a7 Wiex) | 1500 | 1100 | 900 | 500
FHH=El ) gEm | 40 30 20 | 10
Fa TEgU () 18,000 | 12,000 | 9,000 |6,000
I F1 A ) 8,000| 6,000 | 4,000 2,000
s & A ®) 3,000| 1,800|1,200| -

Tl SUgE YR W g9E HW g A
it fafi= = = fafu= fawmi & sfem

Hiteg |

A company is managing four operating
departments. 4, B and C are production
departments and D is service department.
Other particulars are as under:

®) )

Rent 5,000 |Power 4,500
Repairs 4,000 |Supervision 7,500
Depreciation | 2,250 |Employer’s liability
Light 600 |for insurance 750

Fire Insurance

(Stock) 2,500
109_JDB_* (14) (Continued)
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The following informations are available in
respect of the four departments :

Departments

A B . D

Area (sq. meter) 1500 | 1100 | 900 | 500

: @@ No. of Employees| 40 30 20 10
Total wages (3) 18,000 {12,000 | 9,000 |6,000
Value of Plant (¥)| 8,000 | 6,000 | 4,000 |2,000
Value of Stock (¥)| 3,000 ( 1,800 1,200 | -
Selecting the most appropriate basis,

apportion various items of cost amongst the
various departments.

T8 / Unit-III

3, A9d Uo7 Ted 9 YR ¥ U@ T § —

fom van, wifem v@r iR gew) wmh
sﬂtq""@ﬁmﬁﬂm%

|t
(7) (%)
T ¥faw b 60 80
wiferm g [ 100 100
T 900 250
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ITH o FR@E SRS T, 2018
A 71,00,000 911 ¥&® THR & Y@ H
Earecic S I e A B
FREA I F @A v Th wife
TE 9 ¢faw @l & TWEL q°9 Th F
iy dfaw v@l F WX T 3, 2018
F ImeE @t "1 1000 fE@ W€, 500

cooler is equivalent to five table fans for
the purpose of overheads allocation. The
production in the month of August, 2018
was 1000 table fans, 500 ceiling fans and
100 coolers.

arerar / OR

frafafas faeto 31 F&W 555 & Hay

T ARTEAL.NETRLIEER R SuvRw WAt

Hifdss 9§ @ 100 Fow ot WE
Messers Raja Traders manufactures three ® ®
types of fans —table fan, ceiling fan and | et 40,000 | T 50,000
cooler. The materials and wages cost are
e ayeEE = | 15,000 wive fawtg w9
as under:
Materials Wages :;ﬁ WIHF fj{l{
1,20,000] ( 10% 50,000
%) %) [
| sy wE  |60,000
Table fan - 60 80 ks
Ceiling fan 100 100 e @ F A H 11,000| wmoE A | 43,000
Cooler 900 250 FeTeTaT | Ly
His total factory overheads for the month TS W 1,00,000| = STIH 2,000

of August, 2018 was ¥ 1,00,000. You are
asked to determine the factory cost of each
type of fan assuming that one ceiling fan
is equivalent to two table fans and one

7€ "AA gC fF IH HEF ¥3,50,000 I,
¥IF GA TE A HE GE TR
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Following particulars relate to contract

YA W ¥ FE A w1 2% @

No. 555 : ¥ W 10% = @ W & o W shea
®) ®) A4 3R B § 7100 W fmomo W 7 150
Materials 40,000 Wages 50,000 A6 fFome mww: W @ ¥ whwa
Indirect Plant specially & o # faa = gwr # -
expenses 15,000| for contract
p ‘ gfshar-4 | whiwan-B
Work (subject to -
certified 1,20,000( depreciation T g (famo ) 1000 70
Materials @ 10%) 50,000 O T W
at the end Work uncertified| 60,000 (ufa f&ame) 7120 7200
of the year 11,000| Plant at the end | 43,000 eIt ¥ 17,500 | ¥ 10,000
Cash received Materials fmfn == 75,380 | 75,342
from contractee|1,00,000| returned to ufshal @M, ISUET ® @A 9 ToS
the stores 2,000 uisran it @A wfn 3E q@id gY SR
Prepare Contract Account and Work-in- The product of a manufacturing concern
Progress Account assuming that the contract passes through two processes 4 and B and
price was ¥ 3,50,000. . . then reached to finished stock. It is
_ ascertained on the basis of past experience
373 / Unit-1V that in each process 2% of the total weight
] is lost and 10% become scrap on which from
4. & Fmo v w1 IR X owhEa 4 ™ the process 4 and B realise ¥ 100 per kg
B ¥§ T WOR Wis § wm ¥ fisw and ¥ 150 per kg respectively. The

particulars of process are as follows:

FVEl F AYR W I 9 T ¥ TR
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Process-A | Process-B TR H ¥ ufa e ¥ 300
Materials wugaed AUl aEd
consumed (in kg) 1000 70 F ¥ W e % 500
Cost of material (per kg) 120 200
Wages ¥17,500 | ¥ 10,000 Q@ g' i HIE ¥ 3,500
Manufacturing Expensesl ¥5380 | ¥5,342 : ING ¥ 80,000
Prepare process accounts showing the cost -' & EEIECERSICE | 5 99
of the output of each process and the cost
per unit. atw, 9w sk afde ¥ 3,000
37¢7aT / OR T Od1 AR gt ¥ 4,000

Fefafea fosmol @ & =9 =1 wfy
T fHotto w1 wiy frariix @rm
F@ Rt :

W@ 9 W TR F " siEaT 15 Fowo
T W FE R oaw oW F o5 fam
T wedt ¥ 9% wRier s Wiy % wer
5 A AH F W owdt ¥ gowy e

50 AL F § ot st sow qui Wt
g

e &

From the following particulars, calculate the

operating cost per passenger km and per
km of bus:

A bus covers a distance of 15km between
two cities on an average. It does not remain
on road for five days in a month. It takes
5 round trips each day. Its capacity is of
50 passengers and on average 80% of the

seats remain full :

T m— N RIT T e ATNE AR AT, T R
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Driver’s salary per month ¥ 300
Salary of conductor and
cleaners per month ¥ 500
Petrol etc. per month ¥ 3,500
Cost ¥ 80,000
Estimated life 5 years
Insaurance, tax etc. p.a. .i‘ 3,500
Repairs and renewals p.a. 34,000

ZehtS / Unit-V

5. O @i a1 fodiE o & qiomEt
F W F HRU H TR HIfWUl TH
Wmﬁm—ﬁmﬁﬁql'

State the reason for disagreement between
the costing and financial results. Prepare an .
imaginary Reconciliation Statement.

S7ear / OR

L)
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(13)
frefafes & @ #ifag.

(a) W9-fo=3% fag (B.EP)

(b) ¥10,00,000 & faspl W =N

(¢) ¥12,00,000 s feamt W gew & G

IEED

(-) vitedeieT «rTa
SINCE]

(-) T @
TS @

From the following find out:

(a) Break-even Point

(%)

8,00,000

6,00,000

2,00,000

60,000

1,40,000

{b) Profit on the sale of ¥ 10,00,000

() Margin of Safety from the sale of

¥ 12,00,000
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(%)
Sal 8.00,000
ales
Less: Variable Cost :6,00,000
Contribution 2,00,000 ‘
Less: Fixed Cost 60,000 .
Net Profit 1,40,000
|
‘r
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